=EMAX

PNEUMATIC@ TBC/XBC Series Standard Cylinder

TBC XBC

+—4

TBC-S XBC-S

B: Basic cylinder ' Blank: No Mounting typa: Rod end fitting type:
D: Double-ghaft Blank: Basic type  pagnet Blank: Basic type Blank: Basic type
A Double-shaft Adjustable stroke:  5; With magnet  TLB: Fast mounting TY: ¥ fitti
adjustable stroke type o 50mm TFA/FB: Front rear plate mounting 11 ! fitting

5: Swivelling type TCA: Single trunnion mounting TF: Floating fitting

Bore x Stroke TCB: Double trunnion mounting 18+ Bearing fitting
TTC: Centre trunnion mounting
TTC-M: Centre trunnion with base

mounting
T: Tie-Rod
Standard Cylinder 32~100mm
X: X-Type Mickey
Mouse Cylinder 0-2000mm

* T series cylinder. basic type, 32mm bere, 50mm stroke, with magnet, model: TBC 32X50-5
* X series cylinder, double shaft with adjustable stroke 20mm, 40mm bore, 200mm stroke, modal: XAC 40X200-20

* Provided with adjustable cushion on both and covers to make sure the cylinder works very
smoothly, safely and with low noise.

* With self lubricating bearing, the piston rod is lubrication free.

* Magnet and sufficient fixing styles are available.

=EMAX

TBC/XBC Series Standard Cylinder PNEUMATIC@

Clean Air (25 pm filteration)
VY VIVF VB

135

i

Cover O-ring

9 Piston seal
11 Wear ring
13 Piston

15 Cushion needle

17 Hexagon nut

Iy
Aluminum alloy

Aluminum alloy
Hard anadized alurainum
NER

NER

SN
PAGE

RbFeb

Carbon stesl

Carbon steal
. Terd . (Coubonsea




=EMA)§ :EMA)&

TBC/XBC Series Standard Cylinder TBC/XBC Series Standard Cylinder

021 TBCIXBC Series

TDGC
[ 1k |
...................................................... i Ei i i
=1 Main Dimensions
TDG-5
TBC ©32-2100 ) LTI B 4[ r
v s g i B i C+Siroke " — |
= T = 5 £ et gofs G s " G .
M . - |_ M 2-0 N _
- 1 - & = s T e i L) Designation
. o Internal Structure 1 Nut
e 40000000 0909020200 e —— 2 Piston rod
i 1 ! 3 Piston rod seal
2 = . :
o £ | = f No magﬂEt 4 Self lubricating bearing
f i =-'h__;__1' ) - i ) 5 Head cover
I ‘ =r I 1, 2 § 465 15 8 2101 12 12 ] Cushion =eal
s = 1 | 7  Cover O-ring
i 2-Cushion Serew 8  Piston seal
8  Piston
| 11 Barrel
az 140 47 g% 275 [ M10 x 1.25 B = 1 12 Cushion anti-leakage O-ring
40 142 48 93 32 34 15 27.5 24 1? 7 MIZx1.25 MBx1 13 Adiustable cushion needle
50 150 57 93 35 42 15 27.5 32 23 8 MIEx15  MBx1 screw
63 153 57 9 355 42 15 275 a2 23 8 MI6x15 M8x1.25 14___ Tie rod nut
80 182 75 107 47 54 21 33 an 26 10 M20x15 M10x1.5 AR e :
100 47 21 33 40 26 10 M20x15 MI10x15 B b

17 Connection bolt

A1+Stroke x 2

I

IE

I
ﬁmqu

]

o

32 9.5 13.7 Gi/8 35 75 45 33 12 10 C+Siroke . B+Stoke :
40 a5 13.5 G114 6 a2z &0 ar 16 14 vt 50 E+Siroke

50 95 13.5 G114 &5 82 G2 47 20 17

63 9.5 13 Gaa 7 a.5 75 56 20 17

80 13.5 16.5 G 38 10 8 10 G4 70 25 22

100 13.5 16.5 G112 7.5 B 13 112 84 25 22

* The dimenszian of the model with magnat is the same with the model without magnet
* Bore = 125mm, the dimeansion is the same as VBC seres (1506431 standard) cylinder

2-Cushion Screw

A-L-daep(M)
IEINBGIIBG Séres CyindarKits T s ---ﬂ-----_-—
. = 32 187 37.5 6 M10 x 1.25 M6 x 1
R ? I |
) - o~ 5 SN 3 (Moy=re ‘J E»;f} 40 191 49 93 32 34 15 275 24 1? 7 MI2Zx125  MEx1
i .ii - = 0 (] Ij | )\ L . 50 207 &7 23 35 42 15 7.5 32 23 8 Mi1Gx1.5 MG x 1
o e ( = o e I A A o i 63 210 57 96 355 42 15 275 32 23 8 M16x15  MBx125
§ e rﬁ| i rD.Q WS . P —— 80 25? ?5 m? 4? 54 21 33 40 2ﬁ m M20x1.5 Mi0x 1.5
¥ o 7. ! 100 54 M20x15  MIDx 1.5
L ]
1 Fi| 3 4 '?Ei B 10 11) 12 13 14| 15| 16 17] 16| [19 [20 21) 33 137 G 1/B 75 B
| w { i+ 1 =2 ] 3 | <+ | s J 6 | 7 | 8 | 8 |0] 1] — “‘5 N " ﬁ e ’ 5” ‘“ ‘“ “
Designation Mt Tie-rod nut  Plston rod seal  Head cover  O-ring  Adjustable screw  Block slip  Self lubricating bearing Cushlon ring O-ring  Barel i e 145 Sq el B3 o - A i e 14
63 8.5 13 G 38 i 8.5 8.5 75 56 20 17
B0 13.5 16.5 Gas 10 8 10 94 70 25 22
4 | 15 | | . | s | 20 | 21 |
[ o [ e | e [ | T T : — B e - L — = =~

- i Exnm gk g B el Wear i Pl EMRruehion: ‘et Fieagenl (4. e " The dimension of the model with magret is the same with the model without magnet




	TBC Catalogue-Semax
	TBC Catalogue-Semax
	หน้า 2 แก้ไข

	ทีบีซี_Page_011



